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June, 2025 

BBCCT-115 : HUMAN PHYSIOLOGY  

Time : 3 Hours  Maximum Marks : 70 

Note : Question No. 1 is compulsory. Attempt 

any five questions from Q. Nos. 2 to 8. 

Draw diagrams wherever necessary. 

1. Answer the following :  

(a) Name any two anticoagulants. 2 
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(b) Name any two body sense organs. 2 

(c) Define systole and diastole. 3 

(d) Draw a well labelled diagram of the 

prototypical structure of neuron. 3 

2. Distinguish between any two of the 

following :  6×2=12 

(a) Positive and Negative feedback 

mechanism of Homeostasis 

(b) Intrinsic and Extrinsic pathway of blood 

coagulation 

(c) Arteries and Veins 

3. (a) Explain how heart rate is regulated. 8 

(b) Describe the oxy-haemoglobin 

dissociation curve. 4 

4. (a) Elaborate the metabolic importance of 

liver.  6 

(b) Illustrate the role of placenta as a feto-

maternal unit. 6 
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5. Write short notes on any three of the 

following :  4×3=12 

(a) Alzheimer’s disease 

(b) Fatty liver 

(c) Asthma 

(d) Atherosclerosis 

6. Compare the following : 4+4+4=12 

(a) Polarization and Depolarization of 

action potential 

(b) Diarrhea and Constipation 

(c) Spermatogenesis and Oogenesis 

7. (a) Describe different types of renal 

disorders. 6 

(b) Give an overview of composition of 

blood.  6 

8. (a) With the help of suitable diagram, 

explain synaptic transmission. 6 
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Or 

Explain the Renin-Angiotensin-

Aldosterone system. 

(b) How does anti-diuretic hormone help in 

maintaining water balance ? 6 

Or 

Explain biological significance of 

musculo-skeletal system. 

 

 

 

 

 

 

 

 

 

 



 [ 5 ] BBCCT–115 

B–1457/BBCCT–115 P. T. O. 

 BBCCT–115 

ch- ,l&lh- (vkWulZ) tSojlk;u 

(ch- ,l&lh- ch- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-ch-lh-lh-Vh-&115 % ekuo 'kjhjfØ;k foKku 

le; % 3 ?k.Vs   vf/kdre vad % 70  

uksV % iz'u la- 1 vfuok;Z gSA iz'u la[;k 2 ls 8 rd ls fdUgha 

ik¡p iz'uksa ds mÙkj nhft,A tgk¡ vko';d gks ogk¡ 

js[kkafdr fp= nhft,A 

1- fuEufyf[kr ds mÙkj nhft, %  

(d) fdUgha nks izfrLdandksa ds uke crkb,A 2 

([k) fdUgha nks 'kkjhfjd laosnh vaxksa ds uke crkb,A 2 
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(x) flLVksy vkSj Mk;LVksy dks ifjHkkf"kr dhft,A 3 

(?k) U;wjkWu dh izk:fid lajpuk dk LoPN ukekafdr fp= 

cukb,A  3 

2- fuEufyf[kr eas ls fdUgha nks esa vUrj dhft, % 6×2=12 

(d) leLFkSfrdh dh /kukRed vkSj ½.kkRed QhMcSd 

dh fØ;kfof/k 

([k) jDr Ldanu ds vkUrfjd iFk vkSj cká iFk 

(x) /kefu;k¡ vkSj f'kjk,¡ 

3- (d) ân; xfr dSls fu;af=r gksrh gS] le>kb,A 8 

([k) vkWDlh&gheksXyksfcu fo;kstu oØ ij ppkZ dhft,A 

4 

4- (d) ;Ïr ds p;kip; egRo dks foLrkj ls crkb,A 6 

([k) ,d Hkzw.k&ekr` bdkbZ ds :i esa IyslsaVk dh Hkwfedk 

dks Li"V dhft,A 6 
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5- fuEufyf[kr esa ls fdUgha rhu ij laf{kIr fVIif.k;k¡  

fyf[k, %   4×3=12 

(d) vYtkebj jksx 

([k) olh; ;Ïr 

(x) vLFkek 

(?k) ,fFkjksLDysjksfll 

6- fuEufyf[kr dh rqyuk dhft, % 4$4$4¾12 

(d) fØ;k foHko dk /kzqohdj.k vkSj fo/kzqo.khdj.k 

([k) nLr vkSj dCt+ 

(x) 'kqØk.kqtuu vkSj v.Mtuu 

7- (d) o`Dd fodkjksa ds fofHkUu izdkjksa dk o.kZu dhft,A 6 

([k) jDr ds la?kVu dk ,d voyksdu nhft,A 6 

8- (d) mi;qDr fp= dh lgk;rk ls flusfIVd lapj.k dks 

le>kb,A 6 

vFkok 

jsfuu&,sfUt;ksVsfUlu&,YMksLVsjkWu ra= dks le>kb,A 
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([k) ty larqyu cuk;s j[kus esa ,UVh&Mkb;wjsfVd gkWeksZu 

dSls lgk;d gS \ 6 

vFkok 

is'kh&dadky ra= ds tSfod egRo dks le>kb,A 

× × × × × 

 

 

 

 

 

 

 

 

 

 

 


